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e: Wiite Answers to the Cuuestions on the objective answer sheet orovided. Four sossible answers A, B C i
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answer you consider correct, fill the correspc ading circle A, 8, C or D given in front of each question with Marker or Pen ink on thr(: ar.swgr E:hta(:l\xgv'r:e‘tlfl E

1.1, Vhich of the following is not a he terotherm?

(A} Bar {3} Humrning bird {C)  Duckoilled Platypus (D) “lying bird
2 The inactive, non conducling waod is called:
fea) Feartweod {19 Sapwood {C) Secondary Phloem (D) FPrmary Xylem
3. Total number of facial bones is;
») 22 iy i4 (€) 12 /.359\ 16
4, Which of the following is wrong s:atement? // = \~
(h}  Adreraline raleases  1i4) Non-adrenaline iC) Sympatheti sy@n’s ) Pupil dilates by
glucose from livar releases glucose from reinforced by epinephirine / parasympathetic
glycogen liver glycegen and nor-gpinephrire—— .- —system
5. Fliclated plar s possess: P 5
| . s .Y ‘-
{A) No chloraphyll i) Chlorosis {Cl\ Insyfficient chio | _Highﬁr\aiiiurophyh\
2 - RN
6. Fruit set means: k

/
%ﬁon of ovary Pregnbﬂu ;
N\ =

. [1'-’)/ Lateral merslem iry) seylar cambium - {C) \ Caﬁk\canibiu (0 H“'_"“?-‘:J‘I‘A, B&C
Halix of DNA has diameter: 7 \/ 4
/

3.4 nm

=) Retenton of sead ity Retention of fiuit ¢ \\

7. iehich of the followiny is respons:ble for secondary growth in plants?

&=

(M) 2 nm ) e B ©)
9. The semi canservative replica ionf ode! predicted by Weison and
{A) Maselson & Stahl A | (B) Hershay & Chase. on Ingrarm (D) Fredrick Sanger

10, Crossing gver

(") Pachyter Diplotene (D) Diakinesis
1. Whic ;
(#) rom e /1((} Chromosome 19 () Chromosome 11
12, Which of the followintgbio-techn as bee pﬂfcliuced in rmammalian milk?
Insuylin TC}" Anti-Thrombin i (o Humai: growih hormane

13, The gene for Retiniti

() X-chro me (E: Y-chromosoms {C) Chromosome 7 (o) Ch-omaosome 11

14. Az

{2} utritional disease  (E) Hormona! disease ) Mental discrder ‘D Physical disease
15 The first Bhotosynthetic organism probably used ______ for reducing COz to sugars.

() Perdose sugars (£} Hydrogen sulfide {C) Hydrogen carbide {D) dothA&E

16.  Solar energy used for evaporalior: of water and heating up soil is abour:
iA) 90% ) 1% (©) 99% b 959%

17, Which of the following statement is faise:

\L#i}ﬂ M%cfthetotal arsa (&) 2% ofwaterisinthe  (C) An area having less {0 Early man was first a
af the warld is under form of frozen ice than 10 to 20 inches . secondary consumer
cuitivation rains is called desert J
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Wiite short answers of zny eighit paris from the Foilowing: (Bx2=16)
Skin does niot corne within the definition of excretory organ, comment.
Differentiate between zndotherms and sclothemms
How is Osmoregulation dons it Hypotonic and Hypertonic environment?
What is difference between tsiznus and muscie @iany?
What is the role of ATP in muscle fatigue?
How is Turgor pressure geneiided?
Define diplohaplentic life cycle
Whiat is the role of non-disjunc:tion in diploid parthenogenesis?
Write the names of four imajor acosystems on land in Pakistan.
Differentiate between phytoplankions and zooplanktons.
What do you know about hydiosiectric power? /\
Mention any four ways in which we can save energy. i
it N
¥\

Write short answers of any sigid parts from the followi

Wiy birth control pills contain progesierone?

How pancreas help humans s an endocring gland? N
Why iodine is added into the tible salt?
How protanopia, deuterzano/pj;-.;faﬁaL&Hampia area differg
What is pleiotropy? Gil-‘?/t(‘m axamples. N\

Define epistasis and how it is sonfused with Yominance’
How genetic engineer prc;dru-:s a sailplerant plant Arabi
What are transgenic plants?

(6x2=12)

tralitl and aritisense strand of DNA

How mRNA in eukfifyoli@icelNemajw protected from nucleases and phosphateses?
Where cod %MO}J ‘situated?

Di %ﬂ necrcé‘; id apoplosis.

Ho kinesis occurs in planis?

What are endangered species? '3ive iwo examples from Pakistan.

What are Hydrothermal vents?
SECTION-II

Aitempt any three questions. [Zach question carries aqual marks: (8x3=24)
Describe thermal requlatory strategies in mammals inciuding humans in cold temperature.

Define Meiosis? Explain Meictic - ‘st with ciagram.

Explain appendicular skeleton of mammals.

Describe nitrogen cycle.

Describe how a controlling mechianism is itself controlied by products of a reaction by giving an example?
Describe different factors which effect the gene frequency of @ population. '
What are placenta, write the functions of placenta during pregnancy.

Define Mendel's law of segregation. Explain it with an example.

Highlight the role of external environmental factors in controlling the growth in plants.
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